
Corporation

®

est. 1931

UNDERSTRUCTURE ASSEMBLY

29 powder hill road, lincoln ri 02865  |  tf: 800.333.1603  |  ph: 401.333.1600  |  fx: 401.333.1952  |  www.stackbin.com 

[leg unit]

3/4" truss bolt 3/4" truss bolts

[steel top]

[leg unit]

[stringer]

3/4" hex bolt

mounting legs to econo-tops

mounting legs to steel tops:  
Place bench top upside down on floor. Place leg unit in receiver as shown. Put tap bolts with washers thru 

holes in receiver and holes in leg unit. Repeat procedure for other leg. Tighten all bolts securely using washers 

and nuts provided.

8 tap bolts 3/4” 
long

18 washers 10 hex nuts

HARDWARE REQUIRED:

2 truss bolts 
3/4” long

3/4" truss bolts

underside of
steel bench top

pre-drilled holes

washer
hex nut

3/4" hex bolt


